1[Option ID=17397]
2[Option ID=17398]
3[Option ID=17399]
4[Option ID=17400]

Sl. No.101
QBID:9201001

The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
5 2010 2020
Bangalore 15% 22%
Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennai 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafafad arferer & adf 2010 3R 2020 F ERF T YR WERT A4 TR, e, FaxmEmE, gol, I9%,
0Ieg SR DAl § Slgcl J Yaldd Al o Ridaal &1 uiard fqaro e mar g | a¥ 2010 3R
2020 & GRA 57 WERl § Rfaaal Bt $a 361 Bk 5.4 TR 3R 8.6 @G § | 59 difadl § fgu e
MHSI & MYR R IY BT IR ST -

TieRal @t Rieaal o1 Iexar fadaeo

HIdiRd! ®1 il ol
T[T [EEEUEED)

b010 2020

S |15% 2%

Sl D1%  [20%

aoadlG [10% 8%

o] 12%  |6%

EEE 8% 10%

mEy [l [is%

Diddal 4%  [16%

What iz the difference between the number of job vacancies available in Bangalore in the years 2020 and 2010
N

. 108200
. 113120
. 118400
. 96400
(1) 1
(2) 2
3) 3
4) 4

a9 2020 3R 2010 H S7TAR & Iuas Sl o Ridaal @ 9@ § siR feaag 2

kd =

SR N

1. 108200
2. 113120
. 118400
. 96400
1) 1
(2) 2
(3) 3
(4) 4

ES S

1[Option ID=19501]
2[Option ID=19502]
3[Option ID=19503]
4[Option ID=19504]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
(Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennat 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafarad arferer & ad 2010 3R 2020 P ERF Id URAH UG A4 TR, foed, saxErs, gol, 9978,
OIeg SR SIasldl § Sscl 9 Yaiid Al o Ridadl &1 9ia=rd fqaro e mar g | a¥ 2010 3R
2020 & ERM 37 WER1 H RiTqal &1 o T30 HHNE: 5.4 TG 3R 8.6 TG § | 59 afeia! § f4U 10
HTHSI B ATUR TR WY DT IR ST :

it @1 Rfdaar o1 weaR faawor

HIdiRd! ®1 il ol
e [CERURED)

D010 2020

S |15% 2%

sl D1%  [20%

BoXEIG [10% 8%

o] 12%  [6%

EEE 8% 10%

Ty J10%  [18%

DB 4%  |16%

What is the average of number of job vacancies available in Hyderabad in the years 2020 and 2010 ?

. 41080
. 42740
. 61400
. 62800
(1) 1
) 2
3) 3
(4) 4

a9 2020 3R 2010 § ge3ETg § Suaw AieRal @f Ridaal &t i e feat g 2

. 41080
. 42740
. 61400
. 62800
(1) 1
(2) 2
3) 3
(4) 4

b=

R IV}

k3=

I S

1[Option ID=19505]
2[Option ID=19506]
3[Option ID=19507]
4[Option ID=19508]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
(Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennat 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafarad arferer & ad 2010 3R 2020 P ERF Id URAH UG A4 TR, foed, saxErs, gol, 9978,
OIeg SR SIasldl § Sscl 9 Yaiid Al o Ridadl &1 9ia=rd fqaro e mar g | a¥ 2010 3R
2020 & ERM 37 WER1 H RiTqal &1 o T30 HHNE: 5.4 TG 3R 8.6 TG § | 59 afeia! § f4U 10
HTHSI B ATUR TR WY DT IR ST :

it @1 Rfdaar o1 weaR faawor

HIdiRd! ®1 il ol
e [CERURED)

D010 2020

S |15% 2%

sl D1%  [20%

BoXEIG [10% 8%

o] 12%  [6%

EEE 8% 10%

Ty J10%  [18%

DB 4%  |16%

What is the total number of job vacancies available in Chennai in 2010 and in Mumbai in 20207

. 1.92 lakh
. 1.98 lakh
. 2.04 lakh
. 2.16 lakh
(1) 1
) 2
(3) 3
(4) 4

ay 2010 T =93 3R 99 2020 & gias T IUae Aiebied] & Ridqdl &1 $o Sl fda-i g 2

. 1.92 Tig
. 1.98 Tl
. 2.04 TG
C2.16 g
1) 1
(2) 2
(3) 3
(4) 4

b =

S IV}

L

1[Option ID=19509]
2[Option ID=19510]
3[Option ID=19511]
4[Option ID=19512]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
(Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennat 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafarad arferer & ad 2010 3R 2020 P ERF Id URAH UG A4 TR, foed, saxErs, gol, 9978,
OIeg SR SIasldl § Sscl 9 Yaiid Al o Ridadl &1 9ia=rd fqaro e mar g | a¥ 2010 3R
2020 & ERM 37 WER1 H RiTqal &1 o T30 HHNE: 5.4 TG 3R 8.6 TG § | 59 afeia! § f4U 10
HTHSI B ATUR TR WY DT IR ST :

it @1 Rfdaar o1 weaR faawor

HIdiRd! ®1 il ol
e [CERURED)

D010 2020

S |15% 2%

sl D1%  [20%

BoXEIG [10% 8%

o] 12%  [6%

EEE 8% 10%

Ty J10%  [18%

DB 4%  |16%

If the number of vacancies in Pune 1s 48000 in the year 2020 and the percentage distribution is same as given
in the table, then what is the number of vacancies available in Delhi in 2020 ?

. 1.20 lakh
. 1.32 1akh
. 1.48 lakh
. 1.60 lakh
(1) 1
(2) 2
3) 3
(4) 4

afe v 2020 B qui § Rfdaai &1 TRear 48000 8 AR @1 Hia=id facRor 391 &1 § Sie difes 3 fan
2, aray 2020 # fEoctt § Suas Ridayl @t e feat § 2

. 1.20 WM
. 1.32 WG
. 1.48 Tiig
. 1.60 ©lE
1) 1
(2) 2
(3) 3
(4) 4

kd =

ER N

L

1[Option ID=19513]
2[Option ID=19514]
3[Option ID=19515]
4[Option ID=19516]
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The following table shows the percentage (%) distribution of IT-related job vacancies in seven Indian cities,
namely, Bangalore, Delhi, Hyderabad, Pune, Chennai, Mumbai and Calcutta during the vears 2010 and 2020.
Total number of vacancies in these cities in the years 2010 and 2020 are 5.4 lakh and 8.6 lakhs, respectively.
Based on the data in the table, answer the question

City-wise Distribution of Job Vacancies.

City Distribution (%0) of Job Vacancies
: 2010 2020
Bangalore 15% 22%
(Delhi 21% 20%
Hyderabad 10% 8%
Pune 12% 6%
Chennat 8% 10%
Mumbai 10% 18%
Calcutta 24% 16%

frafarad arferer & ad 2010 3R 2020 P ERF Id URAH UG A4 TR, foed, saxErs, gol, 9978,
OIeg SR SIasldl § Sscl 9 Yaiid Al o Ridadl &1 9ia=rd fqaro e mar g | a¥ 2010 3R
2020 & ERM 37 WER1 H RiTqal &1 o T30 HHNE: 5.4 TG 3R 8.6 TG § | 59 afeia! § f4U 10
HTHSI B ATUR TR WY DT IR ST :

il &1 Riddl &1 WeaR faawu

HIdiRd! ®1 il ol
e [CERURED)
D010 2020
S |15% 2%
sl D1%  [20%
BoXEIG [10% 8%
o] 12%  [6%
EEE 8% 10%
Ty J10%  [18%
DIadl 4%  [16%

What is the approximate percentage rise in job vacancies available in Hyderabad from year 2010 to 2020 ?

.23.21%
24.52%
.26.24%
.27.41%
(1) 1
(2) 2
(3) 3
(4) 4

ay 2010 T Y 2020 TP S50aIE T Iuais b Rl Bl Rfdqal T @t fba- uiasd &1 afg gs 2

.23.21%
24.52%
. 26.24%
.27.41%
(1) 1
(2) 2
3) 3
(4) 4

k=

S IV}

N

S )

1[Option ID=19517]
2[Option ID=19518]
3[Option ID=19519]
4[Option ID=19520]
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The current SWAYAM platform is developed by the Ministry of Education and NPTEL, IIT Madras with the
help of .

A Infosys Ltd.

B. Google Inc.

C.TCS

D. HCL Ltd.

E. Persistent System Litd.

Choose the correct answer from the options given below:

.B and D only
. C and E only
A and C only
.B and E only
(1) 1
(2) 2
3) 3
(4) 4

g H WU (SWAYAM) F TeHH F9 H T fhus Jeam 3 e Haray 3R TAdeisud (NPTEL).,
TS 3Rl (IIT) HEIN gRI faaid fear T g |

A, 5pINYY fafes
B. 7T 5.
c. gy
D. (g fafics

E. it faen fofies
i fSu U faPedl § U U5l 3R &1 9494 il

1. Had B 3ARD
2. FadC ARE
3. PadAARC
4. Hdd B IR E

1) 1

) 2

3) 3

(4) 4

b —

= Lo

1[Option ID=19521]
2[Option ID=19522]
3[Option ID=19523]
4[Option ID=19524]

Sl. No.107
QBID:9201007

Match List I with List IT

LISTI LISTII
(Component) (Learning Theory)
A |Stimulus-Response I |Cognitivism
B. [Networking II. [Constructivism
C. |Schemas III. |Behavicurism
D. [Reasoning I'V. [Connectivism

Choose the correct answer from the options given below:

AT BT G, DRIV
. A-IIL, B-IV, C-1, D-II
A-IV, B-I, C-II, D-III
. A1, B-IV, C-III, D-I
1) 1
(2) 2
(3) 3
(a) 4

b=

I Y




el 191 gl 11 8 e piforg

I II
gﬁ@ (ar_fﬁgrﬁm
L

A [SEIT-3har BRIEEIH
B. [Hedfdd I [EREEG
C. [&udE Il [ofagRarG
D. [dwdl IV. [SareHarG

fafdRad fdsedi ¥ 9 |8l 3R &1 904 DI ;

1. A-I, B-IL, C-III, D-IV
2. A1, B-IV, C-1, D-II
3. A-IV, B-1, C-II, D-III
4. A-T1, B-IV, C-IIL, D-I
1)1

(2) 2

(3) 3

(4) 4

1[Option ID=19525]
2[Option ID=19526]

3[Option ID=19527]
4[Option ID=19528]

Sl. No.108
QBID:9201008

What does the letter 'R’ in instructional design model of teaching '"ASSURE' stand for?

1. Require Teacher Participation
2. Require Learner Participation
3. Require Society Participation
4. Require Parents Participation

1) 1

2) 2

(3) 3

(4) 4

[R1&07 BT SRS SHildHed IS 'ASSURE' ¥ 38R R g oy 1ar g 2

1. IS UIGUTHTT P e/ Mavaddl
2. fErTHS Al UTaHIATaT ST SU&T Tavgedl
3. OIS D1 GIaUTIar 1 sraeadar
4. TI1-fUd B Ui HIRT @1 SraRgahdr

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19529]
2[Option ID=19530]
3[Option ID=19531]
4[Option ID=19532]

Sl. No.109
QBID:9201009

Given below are two statements:

Statement-I The basic function of exploratory case studies is to identify questions and select types of measurement before the main

investigation

Statement II: The basic function of cumulative case studies is to make unfamiliar familiar and to give readers a common language about

the topic in question.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I is correct but statement II is incorrect.
4, Statement I 1s incorrect but Statement II 1s correct.

(1) 1
(2) 2
3) 3




(4) 4

Py T E:
G 1 - FH-ARN WSROI () ST B WY $1d G0 3-8 S U Ugd Wl &1 Afgd &1 3R

019 & YbRI &1 99 BT § |

DY 11 : Gl TR0 (@) HFGA! BT WS SR S151d &1 J1d SIAT SR OTIHTd 9 & aR § 96®|
& o0 U T U1 Ve $RATE |

SWRIE PUH & et T, 13 3w U fased] T 9§ Yl SUgad 3R &1 997 Bifd:

1. YT 1 3R 11 §H1 T8l gl
2. PYT I AR 1 EH Tad g

3. PUF 1 TE1 B, U HUF 11 Tad B
4. DY 17107 §, AT Y 1 el B

(1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19533]
2[Option ID=19534]
3[Option ID=19535]
4[Option ID=19536]

Sl. No.110
QBID:9201010

Grven below are two statements:

Statement-I SWAYAM Prabha is an initiative of the Ministry of Education.

Statement II: The DTH channels are using the INSAT-30 satellite for Program telecasts in SWAYAM Prabha.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are true.
. Both Statement I and Statement II are false.
. Statement I is true but Statement II 1s false.
. Statement I is false but Statement II is true.

1) 1
(2) 2
3) 3
(4) 4

f= S ey R U :
HY I : TG WHT (SWAYAM Prabha) RIeM @@ Sl U@ Tga § |

o =

RN )

Y 11 : DTH e W04 (SWAYAM) UHT & SREHH! & TR & [T 598¢-30 SUTE T UG HIIB &
|

IR Y & el 1§, 19 {3 T fawed 1 3 98l 3R @1 9 i
1. PUAI AR I A A B
2. BY 1 R GH 3T 5
3. BYT 1 9 &, Al HYF I 3T 2

4. DY 3T B, A YT 11 TA B
(1) 1
) 2
(3) 3
(4) 4
1[Option ID=19537]
2[Option ID=19538]

3[Option ID=19539]
4[Option ID=19540]




Sl. No.111
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Given below are two statements:

Statement-I The null hypothesis for testing of difference between means is generally stated as Ho: py # .
where (pq) and (u,) are the population means of the two populations, respectively.

Statement II: When samples happen to be small samples and population variances are not known but assumed
to be equal, Z-test is employed for testing the null hypothesis.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement II is false,
4. Statement I is false but Statement II is true.

(1) 1

(2) 2

(3) 3

(4) 4

TS eyE U

P 1 : AT & S SR & Tieor o Y R URBeTT BT SHAR R §H YR AHordd fdar ST e
Ho : 1y % o, 1y AR p, & SEREITS & R GREE 71§ |

U 11 - 979 Ffieel B ufeasl 81 § SR SFRiean JER0 S 5 & Tig 99 I ol 91d €, 99 9
GRS b URIEUT b [T Z-URIE01 &1 Wy e [T ol & |

TRIF FUF P e 5, 419 fu U fawed! o T T8 SR &1 997 S Ife:
1. P RIS Y &
2. YA IR 11 GHT ST &1

3. BYT 1 9 &, Afh HYF I A B

|

4. YT IR, AfFT HUT I g =
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19541]
2[Option ID=19542]

3[Option ID=19543]
4[Option ID=19544]

Sl. No.112
QBID:9201012

If a researcher wants to select a sample from a population such that each member in the population of interest
has an equal chance of being selected in the sample, the researcher is following:

1. Quota sampling
2. Convenience sampling
3. Purposive sampling
4. Random sampling
1) 1
) 2
3) 3
(4) 4

Ife U Yyddl a3 Ufdes &1 99+ 59 YR I S1 I7edl ¢ [ 980 el § Udd e &l
Ufaesl Tg & 99 3faER UK &Il 6. dl 59 e &1 Ufdes 9o FefafGa A d oH.ag 2

1. BleT ufaes 9u
2. glauTere wiaex 9u4
3. PO Ve =
4. ATl dfaes 9u
1) 1
2) 2




3) 3
(4) 4

1[Option ID=19545]
2[Option ID=19546]
3[Option ID=19547]
4[Option ID=19548]

Sl. No.113
QBID:9201013

In the context of bibliographies and footnotes researchers sometimes use the abbreviation 'tr' which means:

. transit

. transported
3. translated
4, transeript

b2 =

1) 1
(2) 2
3) 3
(4) 4

Ty et ok urg fewoft & el & wafi-aft <ivedf deémer + &1 i o § ot s & -

1. YRdg-
arfed

& GIE]
PIIIE]

Fie ik

1) 1
) 2
3) 3
(4) 4
1[Option ID=19549]
2[Option ID=19550]

3[Option ID=19551]
4[Option ID=19552]

Sl. No.114
QBID:9201014

Given below are two statements:

Statement-T Quantitative research is typically highly structured whereas in qualitative research, the approach is
invariably unstructured.

Statement II : Both quantitative and qualitative research are concerned with data reduction.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.

2. Both Statement I and Statement IT are incorrect.

3. Statement I 1s correct but statement II is incorrect.
4, Statement I 1s incorreet but Statement II is correct.

1)1
(2) 2
3) 3
(4) 4

9 @ e feg e &

HYA 1 - TS 2 fafRiya: st ki sidT 8, Safd umds <Y 1 1Y SUNE FRIgareg =9 9
FRFGER |

T 11 : AEIES SR 0TS G| HDR & Q1Y 3ids] & AP0 4 Hafd s @ |
SRIK DU & 3iTaiiep H, 1= iU ¢ faeedi § 9 ¥ed 3Ugad 3R &1 997 DIWE:
1. ®YA 1 AR 11 G Fel 8
2. BYA 1 R 11 GHI 7Ted &1
3. PYA 1 I 8, Aich HYUF 11 7ed g
4. PYT LI €, Aich P 11 98] ¢

1)1




(2) 2
3) 3
(4) 4
1[Option ID=19553]
2[Option ID=19554]

3[Option ID=19555]
4[Option ID=19556]

Sl. No.115
QBID:9201015

A student commits Level 2 plagiarism while submitting thesis/dissertation. As per UGC regulations, the

student shall be ;

1. Debarred from submitting a revised seript for a period of one year.

2. Debarred from submitting a revised script for a period of 6 months

3. Asked to submit a revised script within a stipulated time period not exceeding one year.
4. Asked to submit a revised script within a stipulated time period not exceeding 6 months.
1) 1

(2) 2

(3) 3

(4) 4

U faedf fasyfaemer srar SminT & faf-ael & SF-R 9 MY Wee/ayg XY vay J e IRl &
TR 2 F1 IR Bl g | 9 H A g siaria faemdf &1 Sfsa fear s 2

1. T% a8 31 3iafe) & forg S uigfaft om e @ afola @ famr s
2. 6 T8 BT 3@ty & forg ARNTUT gigett STH1 <= ¥ afoid SR f&a1 Jem|
3. % 9N & Iy & e STad gHaaly & Hifed uigiaft o &3 &1 Sel \g|
4. 6 HTE B 3l & 3iex a1 FHAEY H IR Urgiciit AT B Bl Sl S|
1) 1
(2) 2
3) 3
4) 4

1[Option ID=19557]
2[Option ID=19558]
3[Option ID=19559]
4[Option ID=19560]

Sl. No.116
QBID:9201016

According to Pierre Bourdieu cultural capital, through communication is for:

. Political benefit

. Military benefit

. Trade benefit

. Socio-cultural benefit

1)1
(2) 2
(3) 3
(4) 4

R S1fEg & SRR, THY0 & A1 I i as doit § Fifed e grars 2

1. reHifa® Y
2. 3y
3. TR &H
4. FIHISS -HRPpidh TH
) 1
) 2
3) 3
4) 4

R O R

1[Option ID=19561]
2[Option ID=19562]
3[Option ID=19563]
4[Option ID=19564]

Sl. No.117
QBID:9201017




Inter-personal communication iz most often considered as :

. Dyadic

. Within oneself

. Many-to-many

. One-to-huge masses

b =

S TS

(1) 1
(2) 2
3) 3
(4) 4

3~R-aufdad GUYUI UTT: S 39 H GHAT G © :
1. gy (Safss)

2. g H
3. g0 Y 95 @i 3R
4. U Y (=Tl S aeel &1 3R
(1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19565]
2[Option ID=19566]

3[Option ID=19567]
4[Option ID=19568]

Sl. No.118
QBID:9201018

The mechanical model of communication is characterised by:

A, Multiple-way flow
B. One-way flow

C. From one-to-many
D. Anonymity

E. Active audience.

Choose the most appropriate answer from the options given below:

A. B and C only
.B.Cand D only
.C.D and E only
A.D and E only

b2 =

e L

1) 1
) 2
3) 3
(4) 4

o & Tifae Atsa wiaey) it R g -

A SgIae-TrTl yarg
B. U&-HT yaTg
C.UF § 3FF P AR

D. JHFIddl
E. gitp g=fe /g

14 fau e faeredl 7 9 Il Sugad SR &1 98- S

1[Option ID=19569]
2[Option ID=19570]
3[Option ID=19571]
4[Option ID=19572]




Sl. No.119

QBID:9201019

Given below are two statements: |

Statement I ; In communication, semiotics has the objective of describing how meaning is generated.
Statement II: It is said that semiotics posits the meaning that is human construct of an observer.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
. Statement I 1s true but Statement I is false.
. Statement I 1s false but Statement II is true.
(1) 1
(2) 2
(3) 3
(4) 4

PRy E:
DY 1 - GUYUT H, T d g § 59%1 auia @ B35 sidl ¢ 1 ol $8 e o g |
@ 11 : U8 B8l W1 ¢ 196 Hebd (G311 g8 W § 1a o faeil e &1 aa R g |
IR FYA P AP 4. g 20 7Y [dmedi § I ol Sk &1 9094 BT

1. FYA 1 SR 11 SH1 T B

2. FYF 1 AR 1 3HI S &

3. YT 1 9 €, A HYUF 11 3T 8

b =

e L

4. DY TR, AT FUT 1 A B
(1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19573]
2[Option ID=19574]

3[Option ID=19575]
4[Option ID=19576]

Sl. No.120
QBID:9201020

Given below are two staternents:

Statement I : Communication has the power to define, persuade and inform issues and events to the people.
Statement II: Communication cannot serve as a tool of demarcation among people.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.

. Both Statement I and Statement IT are false.
3. Statement I is true but Statement I is false.
4. Statement I is false but Statement II is true.

1) 1

(2) 2

(3) 3

(4) 4

b =




TPy

ﬁﬂ?{_g SO 1 ST gel iR geArs!l &1 uRyIiNd S, S9H SR giad S 3 widd FHigd
B g |

B 11 : YU AR H IR & U WY & U H Udl 1ol o Ibdl 6 |
SWRIH PYF & el H, 1 [3u Y fasedl § 9 96l SR &1 99 SIS
1. YT AR 11 S T §
2. U1 AR 11 GHI ST 5

3. PUT 1T g, AP HUT 1 ST 5

4. PYT 1 ITA &, AT YT 1 ID B
(1) 1
() 2
@) 3
(4) 4
1[Option ID=19577]
2[Option ID=19578]

3[Option ID=19579]
4[Option ID=19580]

Sl. No.121
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Two old cars are sold for Rs. 48,000 each. One is sold at a profit of 20% and another at a loss of 20%. Find the
net profit/loss percentage and the total amount of profit/loss.

1. 4% loss, Rs. 4,000 loss

2. 4% profit, Rs. 4,000 profit
5%
2

3. 5% loss, Rs. 40001033
4. /optoﬂt Rs. 2,000 profit
(1) 1
(2) 2
3) 3
(4) 4

& R BRI H I YA 1 48000 UL T &1 ST § | TP DI 20% & A1 R 991 oIdl § 3R il bl
20% BIf TR ST ST § | P §U ATH/ET Uio=rd &t aur and/gr= 3t g o= i 31 Fifse |

1. 4% B, 4000 394 B1F

2. 4% TTH, 4000 ¥9Y ATY
3 %Eﬂ?{ 4000 ¥9Y BIH
4. 2% 1Y, 2000 ¥9T 1Y

1) 1

(2) 2

(3) 3

(4) 4

1[Option ID=19581]
2[Option ID=19582]
3[Option ID=19583]
4[Option ID=19584]

Sl. No.122

QBID:9201022
If 10" term of an Arithmetic Progression (AP) series is 34 and the difference between any two consecutive
terms is 3. then find the first term of the series.

16
10
7

13

fatila f

1) 1
(2) 2
(3) 3
(4) 4




afe e griaR 4of (udh) gaan & 1097 Ug 34 § SR 51 <1 HHNTC 9al & 07 of<R 3 8, 79 §@aI &
YYH UG ! J1d HIIT |

1.16
2.10
T
.13
(1) 1
) 2
(3) 3
(4) 4

)

1[Option ID=19585]
2[Option ID=19586]
3[Option ID=19587]
4[Option ID=19588]

Sl. No.123
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The average age of a commuittee of 10 members is 42 years. A member of age 53 retires and a new member of
age 45 years takes his place. What is the average age of the new committee?

. 39.5 years
. 41.2 years
. 38.2 years
. 40.7 years

b =

RS

1)1
(2) 2
(3) 3
(4) 4

10 G2&i arell fodl! ilfa 31 offed omg 42 a9 € | TP 53 99 B 37 aTel Y& aIgd gidl 8 3R
SUHT R UF 45 TY & U U G5 R [01 S1a1 § | 3@ 59 8 AiHia &1 b g fea-ii g 2

.305TY
41299
38299
.40.7TY
1 1
) 2
@) 3
4) 4

L

1[Option ID=19589]
2[Option ID=19590]
3[Option ID=19591]
4[Option ID=19592]
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Consider a two digit number. If the digits of this number are interchanged, the new number obtained is lesser
than the original number by 18. If the sum of the digits of the number is 12, then find the original number.

e L b
i L -1 GO
G =1 Lh e

1)1
(2) 2
3) 3
(4) 4

3l 3w @1 e R AR S | 9fe 59 9= & @] &1 Se-a5al @ a1 Sl ¢, a9 -5 W 9T
U5 1 (o) ST 9§ 18 P G Al 8 | AfE W & il 1 4 12 8, 79 Ued &1 () &1 J1d $Ifog
|

1
o,




(4) 4

1[Option ID=19593]
2[Option ID=19594]
3[Option ID=19595]
4[Option ID=19596]

Sl. No.125
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In a certain coded language: (A) 'muj paa doda' means 'bring me water' (B) 'paa jo toda' means "water is life' ©
'Jo lin kota' means 'life and death'. Which of the following represents 'is' in that coded language?

. paa
. kota
. toda
Jo

b2 =

SR N

(1) 1
(2) 2
(3) 3
(4) 4

fep il (2 peag W H

A. 'Muj paa doda' @I 31ef fsim ot arex
B. 'paa jo toda' @T 31 TR 591 AZH'
C. o lin kota' ®T 3¢ AEE UUS SY

T Peas T H FHEfafead & 4 & tis i Hofud deare 2

. paa
. kota
. toda
Jo

:L“(..\-\Jl-\.ﬂl—‘

1) 1
(2) 2
(3) 3
(4) 4
1[Option ID=19597]
2[Option ID=19598]

3[Option ID=19599]
4[Option ID=19600]

Sl. No.126
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"Ten milligrams of substance X was fed to ten mice. All of them died within two minutes. One could conclude.
This amount of substance is fatal to the average mouse". Which of the following statements regarding above
argument are true?

A Tt commits the fallacy of Hasty generalization.
B. It commits the fallacy of Irrelevant conclusion.
C. It is a strong inductive argument.
D. It is a weak deductive argument.

Choose the correct answer from the options given below:

. A only
.B and C only
.B and D only
. C only

[ SR

e L

(1) 1
) 2
(3) 3
(4) 4




"X uerd &1 10 o 10 961 &1 Raamar | 3§ it gl fiFe 8 R | $ig g8 sy e ol ¢
%XW%@WW 3Hd-3U ¥ Jgi o [0 urae § 1" SWRidd giaa & gy & Fafafed -9
FUTTAE 2

A 598 fdTdt Iieru BT adbeN § |
B. 39H UfvioR RIfE w1adham & |

C. U8 U@ Yee M g ¢ |

D. U5 T DHIR HETIES gad & |

i< fu U faedl © ¥ Jal SUgad ST D1 949 BIfuu:

1. %ad A
2. FadB AR C
3.%dd B 3R D
4.$ad C

1 1

) 2

@3) 3

(4) 4

1[Option ID=19601]
2[Option ID=19602]
3[Option ID=19603]
4[Option ID=19604]
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If the statement 'all golf players are rich persons' is given as true which of the following statements can be
inferred to be true 7

A No golf players are rich persons.

B. Some golf players are rich persons.

C. Some rich persons are golf players.

D. Some golf players are not rich persons.

Choose the correct answer from the options given below:

.B and D only
.Band C only
.Aand D only
. Cand D only
(1) 1
(2) 2
3) 3
(4) 4

afe wue Tt iew-faaret ol oofda & &1 wet & = B fgm man & 99 Fufaf@a R o= sa an
& ¥Y T ST (61 ol 9Pl § |

A B8 i Tiew faarst st afda i 8 |
B. T 7liew Ears! 4=l aldd g |
C. $© yl aafdd Tiiew st § |

D. $© 7liew [aars! ¥+l aifdd 781 © |
=i feu T fa el 7 9 Yol SUgad SR 1 90 DI

1. HadB ARD
2. HadB 3R C
3. %ad A AR D
4.FIACIARD

(1 1

2) 2

@3) 3

(a) 4

b =

[N ]

1[Option ID=19605]
2[Option ID=19606]
3[Option ID=19607]
4[Option ID=19608]
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Which of the following statements is contradictory to the statement-" all dogs are friendly animals" ?

. No dogs are friendly animals.

. Some friendly animals are not dogs.
. Some friendly animals are dogs.

. Some dogs are not friendly animals.

b =

S S

(1) 1
(2) 2
3) 3
(4) 4

Faffad & § SH-a1 HuA, it S fisad SR & S 1 T § 2

1. 1% 1l Sl HAad SHaR 781 © |
2. 5 [Fad THR T 81 § |
3. 76 TAad AR PO § |
4. 58 T fEAad TR A § |
1) 1
() 2
3) 3
(4) 4
1[Option ID=19609]
2[Option ID=19610]

3[Option ID=19611]
4[Option ID=19612]

Sl. No.129
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Which of the following statements are logically equivalent ?

A, Some fishes are not amphibians,

B. Some fishes are amphibians.

C. Some fishes are non-amphibians.

D. Some non-amphibians are not non-fishes.

Choose the correct answer from the options given below:

.Aand B only

A. B and C only
A, Cand D only
. Cand D only
1) 1

(2) 2

3) 3

(4) 4

Al $H.9 HuH diied U 9 TAE § 2

A TF ISl SUTER T8I § |

B. $% ARG SHTR T |

C. T ol IRIUTRE |

D. T8 IR-SUTR, TR-ASH 761 ¢ |

- feu e foe el # § 93 UG SR 1 99 P

1. $adANRB
2. BaAA, BIARC
3.PdAA, CIRD
4. PHadC3ARD

1) 1

2) 2

(3) 3

(4) 4

bd =

ER N

1[Option ID=19613]
2[Option ID=19614]
3[Option ID=19615]
4[Option ID=19616]
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"There is smoke on the distant hill. Since smoke iz always accompanied by fire, the hill must have fire too."
Which of the terms corresponds to the Sadhya (major term) in the above argument according to classical
Indian school of Logic?

. Hill
. Fire
3. Smoke
4. Smoky hill
(1 1
) 2
(3) 3
(4) 4
"R YT gdd W 431 § | Fifes oTeT yaif €1 & 98i wad o1 il 8. gdd WR 3ra=g g1 371 i gl
m%‘q*%mﬁmm’iwn}‘cﬁﬂwwaiajwe SRIFd gfdd o Fgifed &1H-91 U 91 (1 Ue) &
JR=9 82

ko =

1[Option ID=19617]
2[Option ID=19618]
3[Option ID=19619]
4[Option ID=19620]

Sl. No.131
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A song stored on a CD is, on average, 4 MBytes in size, Amit wishes to transfer 4000 such songs onto a
memory stick. Estimate the minimum size of memory stick, in GB, that Amit will need to use.

.8GB
.16 GB

32 GB

.24 GB

(1 1

2) 2

(3) 3

(4) 4

et w Heifid 1fig, i eR 1 4 g g s | 3Afid U 4000 i &1 90918 fes & wmiaid
HAI 51 § | DT oY [ SATid H1 I arge & 7ad [0 SHR &1 THR] ed &1 9ai &3
P IMaegEd grl |

s i aTged
.16 T S5 cH
327 arged
24 7T STged

1) 1
) 2
(3) 3
(4) 4

R

L

1[Option ID=19621]
2[Option ID=19622]
3[Option ID=19623]
4[Option ID=19624]

Sl. No.132
QBID:9201032




Which of the following statements are true ? 5G-enabled technology will soon replace 4G-enabled technology
for mobile communication worldwide. Potential advantages of 5-G enabled mobile technology include:

A. Greater interconnectivity for Internet of things
B. Greater download speeds

C. Less bandwidth

D. Greater end-to-end delay.

Choose the correct answer from the options given below:

A and B only
.B and C only
. Cand D only
.Aand D only
1) 1
(2) 2
3) 3
(4) 4

TiaTsd TUYr 3 g fgyeord TR IR 457 gafild vt o soft gofia geifiet <y € wfownfig
B M | 557t gafid Hesd TRt & 94e ol | Fefafea § 9 s s mia g 2

A SeE I [0 g 31l Sia-gioiaa
B. SI3als I 39 i

C. $H gsfdgy

D. T R A R R a9 319 fqea

2 fou T fawed! & 9 98 SR &1 99 S

1. Pad A AR B
2. HaAB 3R C
3.%dd C AR D
4. FAAAIARD

(1 1

) 2

3) 3

(4) 4

ol S

1[Option ID=19625]
2[Option ID=19626]
3[Option ID=19627]
4[Option ID=19628]

SI. No.133
QBID:9201033

Given below are two statements: With reference to digital initiatives of Government of India.

Statement I : BHIM is a payment app that lets you make simple, easy and quick transactions using Unified
Payments Interface (UPI)

Statement II: Courses delivered through SWAYAM platform are made available at minimal cost.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are true.
2. Both Statement I and Statement II are false.
3. Statement I is true but Statement II is false,
4. Statement I is false but Statement II is true.

1) 1

(2) 2

3) 3

(4) 4




YRd WHR ] A0 tgadmeial ¢ e i s syafeumue:

HU 1 : STIASTH (HIH) T TH YA U € Sl A0 GHBTes UHeH U9 (GUisfs) 1 i a3 R,
ITH 3R G YoUTER B adl § |

B 11 : WG WEHTH o HIZH U Uex UIouhH GAaH arld W SUde § |
SWRIH PYF & el H, 1 [3u Y fasedl § 9 96l SR &1 99 SIS
1. BYA 1 SR 11 ST T B

2. U1 R 11 GHI ST 5

3. PUT 1T g, AP HUT 1 ST 5

4. PYT 1 ITA &, AT YT 1 ID B
(1) 1

(2) 2

@) 3

(4) 4

1[Option ID=19629]

2[Option ID=19630]

3[Option ID=19631]
4[Option ID=19632]

Sl. No.134
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Which one of the following acronyms is matched incorrectly with its full form?

. BIOS - Basic Input/Output system

. PDA - Personal Digital Authentication
. GUI - Graphical User Interface

. WWW - World Wide Web

(1) 1

(2) 2

3) 3

(4) 4

Frafarad O 9 &1 91 S =18 $/9- 0¥ 719 4 981 aie § o] A g 2

1. dleTS Uy - §if® g9ge/#3eye ey
2. 1iEie - ol fooitea sifdfedss
3. SIS - Wb ToR ey
4, &Y Sy, 3&] - Ao dIgS dd
1) 1
@) 2
@) 3
) 4

b2 =

e

1[Option ID=19633]
2[Option ID=19634]
3[Option ID=19635]
4[Option ID=19636]
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Identify the correct order of the following terms A-D to complete the sentences given below about digital still
and video cameras: Cameras that handle a higher number of will be able to capture more details than
those with a lower number, Images that are stored in a format have not been processed and will take up
more storage space than images that are stored in a format. The  of your storage device determines
how many images you can store.

A.JPEG

B. Raw

C. Megapixels
D. Capacity.

Choose the correct answer from the options given below:

.C.B,A,D

1
2

oW
oy
F P
nYn

= Bk

1)1
(2) 2
(3) 3
(4) 4

fsiiea fea ok difsal BRI & Jau ¥ 7 o/l &1 [ &+ & fo Fafafad 9gi A-D & Te 3 Pd
P ggdH DIl ;

DI AR AT B YU alel HHY 361 HH AT arall B! qa1 1 H1ee [qaor ur H
qIa | UR=9 H HeIRd Bidal &1 umpHu T8l [Gar mare iR g UR=9 | Ya1ia sfaaf
@1 o 1 sifee YSRU RIH T | 31U SR SUSHR0I B i ear g & o fea
Byl &1 HSRUI B bl |

A, Sidigelt

B. 3RUS&Y
C. BmfoaET

D. &%l
e fau U fadedl § 9§ He| 3TR &1 99 Bifow:

1[Option ID=19637]
2[Option ID=19638]
3[Option ID=19639]
4[Option ID=19640]

Sl. No.136
QBID:9201036

Given below are two statements:

Statement-I United Nations General Assembly declared 2010 as International Year of Biodiversity.
Statement II : 2010 was also the target vear to achieve the halt in the decline of biodiversity.

In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both Statement I and Statement II are correct.
2. Both Statement I and Statement IT are incorrect.
3. Statement I is correct but statement II is incorrect.
4, Statement I is incorrect but Statement II is correct,
1) 1
(2) 2
(3) 3
(4) 4




& S Py Ry e
HY 1 : GG AP BI HERIHT A G 2010 DT SRPIY oid fafaerar a8 Gifvd far o |
HUF 11 : 2010 T5 e oy ot o1 foras Sa fafawan § gra o favm o1 urd Sz o |
SRIKT DU & 3l 1, 1= iU U fadedi § 3 Yl 3Ugad 3R &1 99+ DIT:
1. BYA I SR 11 5 el g
2. BYAI IR GH Tad § |
3. BYT 1 9l 8. A HYUF 11 Tad o
4. PYT LI 8, Aich P 11 Fg1 5

1)1
(2) 2
(3) 3
(4) 4
1[Option ID=19641]
2[Option ID=19642]

3[Option ID=19643]
4[Option ID=19644]

Sl. No.137
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Given below are two statements:

Statement-I Vision of International Solar Alliance; Every home no matter how far away, will have a light at
home.

Statement IT ;: Mission of International Solar Alliance: Let us together make sun brighter.
In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement I are correct.

. Both Statement I and Statement I are incorrect.
3. Statement I is correct but statement I is incorrect.
4. Statement I is incorrect but Statement II is correct.

(1) 1

(2) 2

3) 3

4) 4

19 2 P R
HY 1 : SARTPI IR EY 1 D10 (f49): e WR 1, = a8 fava1 4 g 81, Wi 8 |
HY T : SRRIPIY YR A &7 2. 89 Fal firet = g i 3R 42 S &Y |
SR B & 3l o, 53U 7Y faedl ¥ 3 Yad SUgH SR &1 90 BIeg:
1. U1 3R 11 &1 Fel g
2. HYF 1 SR I EH 7TeTd g
3. BYT 1 9al 8. Al HYF 11 Tad o
4. YT 17TAd ©, Afth HU 1 981 ¢

(1) 1
(2) 2
(3) 3
(4) 4

=

1[Option ID=19645]
2[Option ID=19646]
3[Option ID=19647]
4[Option ID=19648]
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Full form of IPCC, a nodal agency in the context of climate change, is:

Intergovernmental Policy on Climate change
Intergovernmental Panel on Climate Change
International Policy on Climate Change
International Panel on Climate Change

I FUR S

(1) 1
(2) 2
(3) 3
(4) 4

STdar] 9Rad & e Uh S Toid! AU ST g AW Fa H A S A1 2
L. Wﬁ#ﬁwuﬂ%ﬂﬂ 3 FAlgHe 9o

2. ZeT@Hed Ud 3T TAgHe Il
3. SERRAS GTer! S FAEHT I
4. SCTRHT Ud 3 Faghe 9o
1) 1
(2) 2
3) 3
(4) 4

1[Option ID=19649]
2[Option ID=19650]
3[Option ID=19651]
4[Option ID=19652]
Sl. No.139
QBID:9201039

Which of the following different sized particulate matters are required for the determination of Air Quality
Index (AQI) in India?

A PMI1 (Particulate Matter Size equal or less than 1 micron)

B. PM 2.5 (Particulate matter size equal or less than 2.5 micron)
C. PM 10 (Particulate matter size equal or less than 10 micron)
D. TSPM (Total Suspended Particulate Matters)

Choose the most appropriate answer from the options given below:

A and B only
B and C only
Aand C only
B. C and D only

bJ =

e L

1) 1
(2) 2
(3) 3
(4) 4

YR H a1y TUIaRT GaEH1 (AQI) P FuRRor & iy Fa & 3 i 3R a1 H-% 14 9 Hivreig gardf
P TR Bl § 2

A.PM1 (1 ISP AHR § HH 91 §RIaR & SS9 T
B. PM2.5 (2.5 HIS®H HHR U HH I1 §aR & B4 98
C. PM10 (10 TTSHH PR J B 1 SR P S99 gare)
D. TSPM (Td Uaifad H0mp 1 uare)

=i feu T fa el 7 9 Yol SUgad SR 1 90 DI

1. HPadA AR B
2. $dAB 3R C
3. FadAARC
4. FHaAB, C ARD

1 1

) 2

3) 3

4) 4

1[Option ID=19653]
2[Option ID=19654]
3[Option ID=19655]
4[Option ID=19656]
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Given below are two statements:

Statement-I Most of the world's geothermal sites are located in the circum pacific belt known as 'rim of fire',
Statement II : Himalayan geothermal fields in India are also part of 'rim of fire'.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement I are incorrect.

. Statement I is correct but statement II is incorrect.
. Statement I is incorrect but Statement II 1s correct.

1)1
(2) 2
(3) 3
(4) 4

R AT Ry
@Y1 : fay & sifrear Yardha wa Re oife Bar & w9 § 31d uR-yia 98l § oafud § |
U 11 : R H [EHTerdl Jardiy & ot Re i BraR &1 | g |
IWRIad HYA & Mad 1, - U T [dwedi § 3 9ad 3ugad 3k &1 99 BIfld:
1. BYA 1 3R 11 ST 9t B
2. Y1 AR 11 S Tad B
3. DY 11 8, Wb PYUF 11 ed g
4. BYF 1T &, A" HUA 11951 &

1) 1
(2) 2
3) 3
(4) 4

b =

e L

1[Option ID=19657]
2[Option ID=19658]
3[Option ID=19659]
4[Option ID=19660]
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In order to enhance interaction and promote mutual understanding between people of different states/UTS including university students
'Ek Bharat, Shreshtha Bharat' scheme launched by Hon'ble Prime Minister

1. Shri Narendra Modi
2. Late Shri Atal Bihari Vajpayee
3. Manmohan Singh
4, Late Shri Chandra Shekhar
1) 1
(2) 2
(3) 3
(4) 4
fafir ot ofR Fsenfia wen & @l (o= | fayfaenea & o= +f wfte §) & &= sia-fsm agm
;ﬁ?ﬁ;ﬂq@mﬁméﬁﬁﬁm'wwﬂg YRT TIeHT B o3 HAfead A1 TUTE

1[Option ID=19661]
2[Option ID=19662]




3[Option ID=19663]
4[Option ID=19664]
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Given below are two statements:

Statement I : By 2040, all higher education institutions (HEIs) shall aim to become multidisciplinary
institutions and shall aim to have larger student enrolments, as per NEP2020 recommendations.

Statemnent I[: As per NEP 2020 recommendation, the aim will be to increase the Gross enrolment Ratio in
higher education including vocational education from 26.3% (2018) to 50% by 2030.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement IT are false.
. Statement I is true but Statement II 1s false.
. Statement I 1is false but Statement II is true.
1) 1
(2) 2
(3) 3
(4) 4

Ta Py

B : 5 [R0&1 AfA, 2020 Bt SRS P STIR T 2040 95 T TR R0 TRi= (@@ 3.9013)
P! FglavaD HRIF & 1 el TG SN 3R JeeR BF HID I 06l TG 8Tl |

U 11 : g, [RI&1 A1, 2020, BT SN P IR, AGHIAD (&7 Higd IR 287 T Febel AHIGA
S{UTd 1 26.3% (2018) T TR T 2030 AP 50% HI- PI 6T I |

TG HUA P 3ATeiP 1, 19 U 70 faseat § T T8t S &1 997 DI
1. PYF 1 AR 11 ST T &
2. BYA 1 IR 11 SHT 3T

3. PUT 1T &, AT HUT 1 I =7

|

E 5]

4. DY 3T B, A HUT 11 IA B
1 1
@) 2
3) 3
(4) 4
1[Option ID=19665]
2[Option ID=19666]

3[Option ID=19667]
4[Option ID=19668]
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In 1904, Curzon wanted to bring which of the following changes in some of the existing universities through
the enactment of Indian Universities Act ?

A. An enlargement of the functions of the universities

B. A reduction in the size of the university senates

C. The introduction of the principle of election to the senate

D. An increase in the size of the university senates

E. Stricter conditions for the affiliation of colleges to a university.

Choose the most appropriate answer from the options given below:

A, CandE only
.A.B.CandE only
A.C.DandE only
A, Cand D only
1)1

(2) 2

(3) 3

(4) 4

k=

]




T 1004 T, YR faylaame Sefiiom & e gRI, Hoi- $© deplal- [ayfaemedl
fraféaa ufkad= a1 9redn o -

A, fufaeeg & ol @ g3-faaraiada

B. fayfaeney die/ Sty & 3MeR & ueias]

c. Hi-e B 9919 & ST &1 wdd

D. fayfaemea de & sreR # 9fg

E. foufaaman @ iaw o Tecd &1 U4l $1 TR g7

- fAu e fawedl 7 9 36 Suged SR &1 98- ST

1.BIAA, C HRE
2. PTAA. B, C, 3IRE
3. PAAA, C, D 3RE
4. PAd A, C, 3IRD

(1 1

) 2

3) 3

(4) 4

1[Option ID=19669]
2[Option ID=19670]
3[Option ID=19671]
4[Option ID=19672]
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Given below are two statements:

Statement-I Indian Council of Philosophical Research (ICPR), was established in 2000 by the University
Grants Commission (UGC) as an autonomous organization.

Statement II : Mahatma Gandhi National Council of Rural Education (MGNCRE) formerly National Couneil
of Rural Institutes (NCRI) was established in 1995 as a registered autonomous society in Hyderabad.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement II are incorrect.
3. Statement I is correct but statement II is incorrect.
4., Statement I is incorrect but Statement II is correct,

1) 1

(2) 2

3) 3

(4) 4

= @ Py Ry R
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4. YT 17TAd ©, Afth HU 1 981 ¢

(1) 1
(2) 2
(3) 3
(4) 4
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3[Option ID=19675]
4[Option ID=19676]
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Given below are two statements:

Statement-I National Board of Accrediation (NBA) was established by UGC.

Statement II : National Assessment and Accreditation Council (NAAC) was established by AICTE.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement II are correct.

. Both Statement I and Statement I are incorrect.

3. Statement I 1s correct but statement I 1s incorrect.
4. Statement I 1s incorrect but Statement II is correct.

1) 1
(2) 2
(3) 3
(4) 4

19 2l Py RRu M &
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3. HYA 1T 8, Aich HYUF 11 7ed g
4. PYT LI 8, Aich1 P 11 Fg] 6

(1) 1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Given below are two statements:

Statement I : The fact that an apple will fall to the ground when it releases from the tree, is an example of
deductive reasoning.

Statement II: Most important scientific discoveries are made only because of sound reasoning of the
investigators.

In the light of the above statements, choose the most appropriate answer from the options given below:

. Both Statement I and Statement IT are true.
. Both Statement I and Statement II are false.
. Statement I 1s true but Statement I is false.
. Statement I 1s false but Statement II is true.
(1) 1
(2) 2
3) 3
(4) 4
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3) 3
(4) 4
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releazes from the tree. This logical reasoning from general to specific iz known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws.

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Given below are two statements:

Statement I : The inference that birds migrate seasonally is an example of deductive reasoning.
Statement II: Deductive reasoning is always correct.
In the light of the above statements, choose the most appropriate answer from the options given below:

Both Statement I and Statement II are true.
Both Statement I and Statement II are false.
Statement I is true but Statement II is false.
Statement I is false but Statement II is true.
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1)1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reagoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Which among the following play a role in achieving suecess in research 7

A. Reasoning
B. Insight
C.Luck

Choose the most appropriate answer from the options given below:

.Aand B only
.B and C only
A and C only
A Band C
1)1

(2) 2

(3) 3

(4) 4
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releases from the tree. This logical reasoning from general to specific is known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by. Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion-A: We often rely on inductive reasoning in our day-to-day life.
Reason-R: Inductive reasoning is more sound logically as compared to deductive reasoning.
In the light of the above statements, choose the most appropriate answer from the options given below:

1. Both A and R are correct and R is the correct explanation of A.
2. Both A and R are correct but R is not the correct explanation of A.
3. A is correct but R is not correct.
4. A iz not correct but R is correct.
1)1
(2) 2
3) 3
(4) 4
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Read the following passage and answer the question:

Ideally, scientists deduce conclusions from general laws that they know to be true. For example, if we know
that massive objects attract each other (because of gravity), then it follows that an apple will fall to the ground
when it releazes from the tree. This logical reasoning from general to specific iz known as deductive reasoning.
Often, however, we do not know general laws that guide natural systems. We observe, for example, that birds
appear and disappear as a year goes by, Through many repeated observations in different places, we can infer
that the birds move from place to place. We can develop a general rule that birds migrate seasonally.
Reasoning from many observations to produce a general rule is inductive reasoning. Although deductive
reasoning is more logically sound than inductive reasoning, it only works when our general laws are correct.
We often rely on inductive reasoning to understand the world because we have few immutable laws,

Sometimes it is insight, as much reasoning, that leads us to an answer. Many people fail to recognize the role
that insight, creativity, aesthetics, and luck play in research. some of our most important discoveries were
made not because of superior scientific method and objective detachment, but because the investigators were
passionately interested in their topics and pursued hunches that appeared unreasonable to fellow scientists.
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According to the passage, some of the scientists were able to make important discoveries primarily because of
their :

A. Passionate interest in the subject
B. Superior scientific method
C. Objective detachment.

Choose the correct answer from the options given below:

1. A only
2. B and C only
3. Aand B only
4 A BandC
1)1
(2) 2
(3) 3
(4) 4
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1) 1
(2) 2
3) 3
(4) 4
1[Option ID=19697]
2[Option ID=19698]

3[Option ID=19699]
4[Option ID=19700]




